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The figures in the margin indicate full marks
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Answer in Bodo

^ : 1x7=7

(^) ttiM qr
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St^TTIK dhwR w
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(^) teTMT m WTt^ imi
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( 2 )

('^) >5^14) «ll<l <ev^cr1 <aM'll

(^) "z^ JiKHHilni" %

2. Jlldwfn ^ : 2x4=8

(^) '4^KK tfTTTR'# irtr^ "qpft ?n^

(^) ^-3TT ^ mz] ^ 3TRt TTR^ sj^kikT?

(4) ^^RT f^f^ kkf^ TRT eilHl
RRkrkr?

(^T) "% 'WtR % W 4Rt?" ^ ^T?n# 'Hk TJIcRT
^<ilHlH? .

3. %? # : 5x3=15

(^) tileilR ^ Itew %4?Rt HI^<HI^
41 HT ^itkkr?

(^) fw\ hniRhIh?

(4) 4141?" % 7akm#r
^iki^ sjiR^nA 4Ht

(•4) 4kTT ute 4rf^ 41^
4k#Tt4?

(^5) 4to hMM\ % 41^
TT^ sIIJHIMi HNiMh f^l
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tte>t

OXIk^k^Obk^iJMkIk
1>IK-t^^k^bMUiii5>M!&IkN^?lhP^>^IMkp£klk,'S

OXIk^Ihk^yi4MkU»^
ikjkkiklkIki=^ih-^^>ibijbiuibi>[b

ifeb.
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